KOHLER.

-
COMPONENTS Zi&
SERVICE PARTS PAGE
HEBIEE
L SHAPE, 1DOOR 2PANELS, 10mm, HINGE
LBY, lE—&, 10mm 1E3zsh

K-701805T
1331782-*
Trolley Wall Body Assy
FIFF EAEEEAR 1
1341605-*
Panel Glass Trolley Body Assy
EIRAUAT e R R 4R -~
1111937-*
Screw Cover Cap M6 CSK Grey 0 1341483
[V f Soft Close Hinge, Up
1341931 0 ZERIIARE
SS Tube, 10*30, Components
10*30 R EMNRE
1341818-* 1341606-* 5] 2:?)4:6:; ingo
Side Wall Clip Assy Side Panel Glass Clamp Assy ver Assy, Hi
SRS ¢ MERRFFIRIBRA L FBHEINRAL
1341926-* o
Side Panel Glass, L Shape, 3 1341685
Components Hinge
o Bubble Seal
MEE ™ YA
MEERKE (H) ARRE
1343926
Magnetic Seal
[7eS
1341838-*
Components Handle,
Double Handle, L=450mm
ZHEHF, 335, L=450mm
o
1341923-*
Door Glass,
Components Hinge P
13K ()
o
1341924-*
e Panel Glass, Components Hinge
EIREIRE ()
Q
1341915
Waterproof Part
FRPER AR
X 1341484
Soft Close Hinge, Down
ZERTIEERE
%
1341932-R
Seal Assy, Moving Glass Bottom, RH
EIXKEEH ()

1361148
Fixed Piece

EE

1361147

Gasket
RER

1361152-*
SS Tube, 10*15, Components L Shape

1380418-T8-C

L BRIk 51015

1361149-*

Cover

[EIRE {1
1269841
Screw M5*22
FEW+FF RS M5+22

* Color code must be specified when ordering.
* TR B A ERS .

-1-



KOHLER.

COMPONENTS Z i

SERVICE PARTS PAGE

HEEHE

L SHAPE, 1DOOR 2PANELS, 10mm, HINGE

LAY, FE—&, 10mm 1ZRH

K-701805T
PINEH#= DESCRIPTION ##& COLOR Fntg
* 1341923 Door Glass, Components Hinge, 10mm [ J# 10mm
* 1341924 Panel Glass, Components Hinge, 10mm EE I 10mm
* 1341926 Side Panel Glass, Components Hinge & E EM. IC
* 1341985 Panel Side Glass with Big Shelf, Components Hinge, 10mm t#4EEEHIE 10mm '
% 1341985 Panel Side Glass with Small Shelf, Components Hinge, 10mm AE4EREERKIE 10mm
*1361152-* SS Tube, 10*15, Components L Shape L B AREFIM FIEKEK10*15 2BL, S, RGD, AF, BN
1361149~ Cover Btz 2BL, S, RGD, AF, BN
1341818-* Side Wall Clip Assy ZiE & kgL 4 2BL, S, RGD, AF, BN
*1341931-* SS Tube, 10*30, Components 10*30 R {ENRE 2BL, S, RGD, AF, BN
1331782-* Trolley Wall Body Assy HI#T LiEEELE {4 2BL, S, RGD, AF, BN
1341605-* Panel Glass Trolley Body Assy BEIIRHIF 32 S EELR 2BL, S, RGD, AF, BN
1341606-* Side Panel Glass Clamp Assy BT 3 18 Je 40 4 2BL, S, RGD, AF, BN
1341483 Soft Close Hinge, Up ZIERFIHI]&EE
1341484 Soft Close Hinge, Down ZEZR5IHEEHE
1341969-* Cover Assy, Hinge & HiREINEAMH 2BL, S, RGD, AF, BN
1111937-* Screw Cover Cap M6 CSK Grey 221§ 2BL, CP, RGD, AF, BN
1341838-* Components Handle, Double Handle, L=450mm Z3EhF, 3%, L=450mm 2BL, S, RGD, AF, BN
) 1341685 |Bubble Seal BEKRSE
Components Hinge
xAi341987 |Pivot Seal Strip Package 1343926 | Magnetic Seal Bisk
Kit, 10mm 1341932-R | Seal Assy, Moving Glass Bottom, RH [EI7ki&4A% (f)
ZEATIEHEIE 10mM (1347932 | Seal Assy, Moving Glass Bottom, LH EIKEAE (/)
1269842 | Screw M5*10 REER+FFELAHIM5*10
1361147 Gasket i
1361148 |Fixed Piece EIEH
_ 1269841 | Screw M5*22 REEM+FFLHH, M5+22
A1341988 gic\)/?tpg;eg;igggel(it 1341989 %ﬁ%fBﬁ 845 ST3.5X40
ey Yy FIMTKBHR (BIEF) ST3.5X40
1057064 | Wall Anchor BERKE (NIERHL)
1157853 | Screw Key 2.5mm R7NAIRF 2.5mm
1095457 | Screw Key 3mm MR7AIRF 3mm
1078917 | Screw Key 4mm RI7<FIRF 4mm

1380418-T8-C -2-



KOHI ER COMPONENTS =7
SERVICE PARTS PAGE
® HIEEHE

L SHAPE, 1DOOR 2PANELS, 10mm, HINGE
LAY, FE—&, 10mm ZBRFHK
K-701805T

Note: Components marked inA can only be ordered in whole pack. When ordering components marked in %, customers need provide
measurement form and corresponding product SKU.
AR TAESHNAIREITE, FhimESHITHERHINNE 2/~ mSKUS,.

Glass options: C, L3, L4, L5, L8, L9, Cl, EL, MZ, GB, GG, GA, GR, TA, SW
IRETE A HESR: C, L3, L4, L5, L8, L9, CI, EL, MZ, GB, GG, GA, GR, TA, SW
FM-It is for filmed glass. Please refer to the table for FM glass.

FM-tb S ARGIRIRIRE, ECEFMBY, REEIRERFMIRIEEIIS & RIS E 1E8UH,

IC-lt is for laminated glass with easy clean coating. Please refer to the table for IC glass.
IC- b SHEHRE+HBSIIE, BLEICH, REZRICIKIERNSE RIEELLMNI.

Table for FMSW glass Table for IC glass
FMSW RIS E R ICIZIEIRINS £ &

PN E45 DESCRIPTION ##i& PN E245 DESCRIPTION ##i&
1291888-L3 BEETEL, L3 1291888-GG-NA W=k, GG
1291888-L4 IR, L4 1291888-GA-NA BHE, GA
1291888-L5 BEEEL, L5
1291888-L8 HKE®L, L8
1291888-L9 LIRS, L9
1291888-MZ SFEIKE, MZ
1291888-Cl BEEERLY, Cl
1291888-EL SRETRAITES, EL
1291888-GB EBESEL, GB
1291888-C BRI, C

1291888-GR-NA 28/%, GR

1291888-TA-NA IRk, TA

1291888-BSZ-NA £ BEVLEIEZE/]\, BSZ
1291888-BMZ-NA (£ BEHEWLEEZES, BMZ
1291888-BLZ-NA | EEFLLENEZEK, BLZ
1291888-GSZ-NA |IREIFFLENEZR/)\, GSZ
1291888-GMZ-NA |[IREBIEFELENEZRF, GMZ
1291888-GLZ-NA  |IRBEFLENEZRAK, GLZ

1380418-T8-C -3-



